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REMFERICEITAMSEEREDFERIZDOINT
. BT A5 B EMEARSRED
No. M4, e aer | B |xe e (e Sv/B%) (mSv/4E) R (0.870mSv/4F) EDE
No. AlE g 5cm 50cm im 5cm 50cm im 5cm 50cm 1m

~ 1 |EEHR 0.07 0.07 0.07 0.35 0.39 0.39 | FFHLUT [FHLT |FHLT

1| 2EREM BE—THI1E26S 108188 | 10:30 | B
2 |BAO 0.07 0.07 0.07 0.39 0.38 0.38 | EHLTF |FHUT [FHUT
~ 1 |EEHPR 0.06 0.06 0.06 0.33 0.32 032 | FHLUT [FHLT |FHLT

2| FREREM T ERT5&E31S 108158 | 10:00 | B
2 |BAO 0.07 0.07 0.07 0.36 0.36 0.36 | FHLTF |FHUT [FHUT
- 1 |EEHPR 0.05 0.05 0.05 0.24 0.28 0.26 | FHLUT [FHLT |FHLT

IEBRBREM |EBLFE4HE|40F 8| 108198 | 1315 | £
2 |BAO 0.05 0.05 0.05 0.25 0.24 0.25 | EFHLT |FHUT [FHUT
1 |BEEPR 0.05 0.05 0.06 0.28 0.27 029 |TFHLUT |FHLUT |FEHLUT

A/MUEBRRER  [{MUBZTBIEE 108198 | 1525 | £
2 |HAO 0.09 0.09 0.07 0.47 0.45 0.39 | FHLUT [FHLUT |FHLT
B 1 |EESR 0.05 0.05 0.06 0.28 0.28 029 |FEHLUT [FHLUT [FHLUT

5|TEERR BT TEERFESHEN 165 Hh 108158 | 16:25 | B
2 |BAO 0.06 0.06 0.06 0.32 0.32 0.29 | EHLT |FHUT [FHUT
1 |BEEPR 0.07 0.07 0.09 0.36 0.38 045 | LT |FHLUT |FEHLUT

6|ILORBEFT WORTH2E15 108188 | 14:40 | B
2 |HAO 0.09 0.08 0.07 0.48 0.42 0.36 | FHLUT [FHLUT |FEHLT
_ 1 |EESR 0.06 0.06 0.06 0.33 0.32 032 |FEHUT [FHUT [FHUT

11EREER ER-TH8&ESS 108180 | 11:00 | B
2 |HAO 0.07 0.07 0.07 0.36 0.39 0.36 | FHLUT [FHLUT |FEHLUT
~ _ _ 1 |EEFR 0.07 0.08 0.07 0.39 0.40 0.35 | TFHLUT |FHUT [FHUT

8| MR IR BT R Z-TH&E6E 108198 | 1450 | 2
2 |HAO 0.09 0.10 0.09 0.46 0.51 049 | FHUT [FHLUT |FHLUT
_ 1 |EEFR 0.07 0.09 0.07 0.39 0.46 0.38 | TFHLUT |TFHUT [FHUT

9| ILERBEFT AL 5 3Hth ) 1 F th 2 108188 | 1405 | B
2 |HAO 0.08 0.07 0.07 0.43 0.37 0.36 | FHUT [FHLUT |FEHLUT
_ 1 |EESRR 0.06 0.06 0.06 0.31 0.32 032 | FHUT [FHUT [FHUT

10|HEZHZREA HZ=F—TH1%6%5 |10A188 | 13:10 | B
2 |HAO 0.08 0.08 0.07 0.40 0.41 0.36 | FHUT [FHLUT |FHUT
_ 1 |EESRR 0.05 0.06 0.06 0.27 0.31 032 | FHUT [FHUT [FHUT

1| EREA EWEMhE146FH1 | 108158 | 1535 | S
2 |HAO 0.08 0.07 0.07 0.43 0.37 0.35 | FHUT [FHLUT |FHUT
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e BEATHAEE B EMERRSRED
A AR EHh aea | B |xe R (u Sv/B%) (mSv/ﬂ-Zg; tHERFH)(0.870mSv/ &) EDE
No. Al S 4 5cm 50cm 1m 5cm 50cm 1m 5cm 50cm im
(,\f};.{%jéf:n\ FR=THs-23 05158 | 925 | m 1 |EEHPR 0.06 0.05 0.05 0.29 0.28 0.28 | FHLUT [FHLT |FHLT
EToTHAL 2 |[HAO 008 008 007 0.41 0.41 0.36 | EHLUT |FEUT |FEgUT
1 |EEHPR 0.07 0.07 0.07 0.35 0.37 037 | FFHLUT [FHLT |FHLT
BERFRBEE |IRA4FB1S 108188 | 10:00 | B
2 |BAO 0.07 0.07 0.07 0.38 0.37 037 | EHLTF |FHUT [FHUT
1 |EEHR 0.06 0.06 0.06 0.32 0.32 0.29 | FFHLUT [FHLT |FHLT
ELREE RARI1EE 108188 | 935 | B
2 |BAO 0.06 0.06 0.06 0.34 0.32 033 | EHLT |FHUT [FHUT
1 |EEHPR 0.05 0.05 0.05 0.24 0.27 0.26 | FHLUT [FHLT |FHLT
FAIRERE FRBTEIMEN14F 11 | 108198 | 1050 | BE
2 |BAO 0.08 0.09 0.08 0.43 0.47 043 | FHLUT [FHLUT |FHLT
RS 1 |EESR 0.06 0.07 0.07 0.34 0.37 0.36 | T [FHUT [FHUT
gj”fi'ﬁ EHA2EI5E 108188 | 1505 | B
BARESE 2 |HAO 0.07 0.07 0.06 0.37 0.36 0.33 | FFHLUT [FHLUT |FHLT
NEAGHE |EE—THIE4E 0g 198 | 1620 | % 1 |EEGR 0.06 0.06 0.06 0.31 0.34 0.33 | FHUT [FHLUT |FHUT
N = i) — : =
- = 2 |BAO 0.06 0.06 0.06 0.33 0.31 031 |'FFHLUT [FHLUT |FHLT
e A _ . = 1 |EERR 0.06 0.07 0.06 0.34 0.36 032 |FFHUT |FHUT |FHUT
“::E Y FEET=T B3%&265 108198 | 1420 | 2
=2al 2 |HAm 008 008 007 0.42 0.42 0.39 |FHLUT |FHUT |FHUT
spen— L 1 |EESR 0.06 0.06 0.06 0.32 0.33 031 | FHUT |FHUT |FHUT
“E‘(Ej& B lussinamoos 10A18H | 15:30 | B
THVHHE 2 |wAD 0.06 0.06 0.06 0.32 0.32 031 |[FHLT | FHUT [FHUT
srsgnm |- THEES om15a | 1030 | 1 |EESR 0.07 0.06 0.06 0.35 0.32 0.32 | TFHUT |FHUT |FHUT
[=Y= — :
StamEmE | = "2 |mam 009| o008| o007| 045| o042 038 |EHuT |THuT [FeuT
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A BEBITORE B EMEARIHRED
No. A AR EHh aea | B |xe e (e Sv/B¥) (mSv/4E) R (0.870mSv/4F) EDE
No. Al S 4 5cm 50cm 1m 5cm 50cm 1m 5cm 50cm im
~ 1 |EEHPR 0.05 0.06 0.06 0.26 0.31 0.29 | FHLUT [FHLT |FHLT
21 |MEREM EREME32FEH#20 (108158 | 1420 | B
2 |HAO 0.11 0.13 0.12 0.60 0.67 0.62 | FFHLUT [FHLT |FHLT
~ 1 |EEHPR 0.06 0.07 0.06 0.34 0.37 032 | FHLUT [FHLT |FHLT
22|/ NEREFR INEIE20E3228 3 (108158 | 11:45 | B
2 |HADO 0.10 0.10 0.09 0.55 0.51 048 | FHLUT [FHLT |FHLT
. L 1 |EEHRR 0.08 0.08 0.07 0.42 0.44 0.39 | FHLUT |FHLUT [FHUT
V| EERELE =EMT B 13405 108198 | 11:25 | B
2 |HADO 0.07 0.07 0.07 0.39 0.36 037 | FHLUT [FHLT |FHLT
1 |EEHPR 0.07 0.07 0.07 0.36 0.38 037 | FHLUT [FHLT |FHLT
24| EXRELE EXEHE1 B 108198 | 10:10 | B
2 |BAO 0.10 0.08 0.09 0.51 0.44 0.46 | FHLUT [FHLUT |FHLT

X1 1 FEROEERIFCEISOVNTE, FTRFHRVEERICLYVELH L.

(FH&#H]
SRIELI5FTIC1 B8R, TDEATDKREREICT B 16KEES LD ERE
- RERBRFEICH T BRIEEIEHIN R E60% (2300.4) LR E

UEMOBERELXHITTI2HDHEK]
FERRE (mSv/HE) =I5 E (1 Sv/B¥) x (8B%ME +0.4 x 168%ME) % 365H <1000
=;BIE B (¢ Sv/BF) x 5.256
H1mSv (3Y—A'ILh) =1000 g Sv(¥490Y—A" L))

X2 SERMND D BARAMSHRIC KD FRBIEEDHR FHBEIZ08TMSV/ETHS.
(FHBEHR:0.39mSv/F, KSR :049mSv/F, =LV FDRARIE RV BMEIRE XD R ERIEERRL

3/3



